
Arbeitsblatt Nr. Datum:

Name: Klasse: Fach:

Aufgabe i.5 a

ω =2⋅π⋅f     →    ω=2⋅π⋅1 kHz     →    ω =2000 π
1
s

îR=
û
R

    →    îR=
8V

330Ω
    →    îR=24,2 mA

XL=ω⋅L     →    XL=2000 π
1
s
⋅20mH     →    XL=125,7Ω

îL=
û
XL

    →    îL=
8V

125,7Ω
    →    îL=63,6 mA

iR (t )=24,2mA⋅sin(2000π
1
s
⋅t)

iL( t)=63,6mA⋅sin(2000π
1
s
⋅t+ π

2 )   ;  iL( t)=−63,6mA⋅cos(2000 π
1
s
⋅t)

Aufgabe 2 b:
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Arbeitsblatt Nr. Datum:

Name: Klasse: Fach:

Aufgabe 2 c:

Aufgabe 2 d:

î=√ îR
2
+ îL

2     →    î=√(24,2mA )
2
+(63,6mA)

2     →    î=67,8mA

α =arctan(
îL
îR )     →    α =arctan(63,6mA

24,2mA )
↳ α =69,1°   ;  α =0,384π   ;  α =1,206
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